4/9 () BEmSIYTYH—1%
KSCYaZP|UATRFRE|Y5—0v2=7| 27757« 22r8A| FRDESC |mESCY2=7| FCHhE BEJSC  |unvTe xR IL—T T VEB| PRIBSFC

1 9:.30 KSCY a7 VS AT RTRIB FCh& FEDESC 1
2 10:20 FEDEFSC VS HESCY 1 =7 KSCYa1Z7 AT AT R 2
3 11:10 UNILT « KER VS =T ValE FEDESC HESCYa1=7 | 3
4 12:.00 UZATRTEIB VS VS5-I 7 UNILTs KER | =Tz UslE 4
5 1250 RESCY 1 =7 VS FCh& UZTIRFREB | YS5—2I21Z7P| 5
6 1340 =" ralE VS PRIFSFC HESCY 1 =7 FCh& 6
7 14:30 FCh& VS FREDESC =T UElE PRIFSFC 7
8 VS

9 VS

1 9:30 VS5-I 7 VS 77«4 3AFBA HESCY 1 =7 BRJISC 1
2 10:20 FCh& VS BRJISC VS5-I |T77FT+DAFBA| 2
3 11:10 PRIFSFC VS KSCYa1Z7 FCh& BRJISC 3
4 12:.00 277+ 3RAFBA VS FEDESC PRIFSFC KSCYa1Z7 4
5 12:50 BERJISC VS UNILT « KER J7F 7+ IRFBA|  FERDVDESC 5
6 1340 KSCYaZ7 VS VS5-I 7 BRJISC UNILT« RKER | 6
7 14:30 HESCY 1 =7 VS BRJISC KSCYaZpP |IS—DIa2Z=7| 7
8 VS

9 VS




4/16 () BEEHSIYYH—15
KSCYaZP|UATRFaE| Y5-Iy 2=7| 27757« 22r8A| FRDESC |mESCY2=7?| FCHhE BEJSC  |unvTFsxER|IL—T T VEB| PRIBSFC

1 9:.30 AT RTRIB VS FEDESC BRJISC =" UElE 1
2 10:20 =" VSIE VS VS5-I 7 AT RTEIB FEDEFSC 2
3 11:10 FCh& VS UNILT « KER V—"DJzrals | YS5-2JIY1ZP| 3
4 12:00 BRJISC VS KSCYa1Z7 FCh& URNILT« KER | 4
5 1250 HRESCY 17 VS =" UElE BRJISC KSCYa1Z7 5
6 1340 VS5-I 7 VS FCh& TESCYa2Z7 | IL—Jzrall | 6
7 14:30 BRJISC VS =" UElE VS5-I 7 FCh& 7
8 VS

9 VS

1 9:30 KSCYa1Z7 VS 2774 3AFBA PRIFSFC HESCY 177 | 1
2 10:20 PRIFSFC VS BRJISC KSCYa1ZP |I27F77+«D2FBA| 2
3 11:10 Jr»7F 7+ 32AFBA VS HESCY 1 =7 PRIFSFC BRJISC 3
4 12:.00 FEDESC VS PRIFSFC D737+« IRFBA| KESCY1Z7 | 4
5 12:50 UNILT « KER VS AT RTEIB FEDEFSC PRIFSFC 5
6 1340 FEVESC VS KSCYa1Z7 UNILT+ RKEBR | UZAIRTEIB | 6
7 14:30 PRIBSFC VS TESCY 1 =7 FREDESC KSCYa1Z7 7
8 VS

9 VS




5/21 () BEEHDIIIYYN—15

KSCYa2ZP|UATRFEIE|Y5—20Ya=P| 2777 «22FBA| FRDESC (FHESCY2=7| FCHE #EEISC |uAnFsxBEr|IL—Y T VBB BERIBSFC
1 9:30 UNILT « RKER VS VY5-I 7 UZTRTEIE |97FT+«3RFBA| 1
2 10:20 Jr»F 714 3AFBA VS FCh& URIVT RKER | IYS—I2Z7| 2
3 1110 KSCY a7 VS UNILT « KER 2737« 3AFBA FCh& 3
4 12:00 BRJISC VS Jr 7«14 3AFBA KSCYa1Z7 URNILT« KER | 4
5 12:50 FCh& VS =" UElE BERJISC 27374 3RAFBA|l 5
) 1340 UNILT « KER VS HESCY 1 =7 FCh& =" ralE 6
7 14:30 AT RTRIB VS 27 7F 714 32AFBA UNIVT « KER | iBSCYa2ZP | 7
8 VS
9 VS

swewt [ EH

1 930 =" USIE VS KSCYa1Z7 PRIFSFC FCh& 1
2 10:20 AT RTRIB VS PRIFSFC =" VElE KSCY a7 2
3 11110 VS5-I 7 VS FEDEFSC AT RTEIB PRIFSFC 3
4 12:00 TESCY 1 =7 VS AT RTRIB I5-=2I21=7F7 FEDESC 4
5 12:50 VS5-I 7 VS PRIFSFC MESCYZ? | UAIRTEIE 5
6 13:40 FEDVLESC VS BERJISC I5-Ya2Z7 FPRIFSFC 6
7 14:30 PRIBSFC VS FCh& FEDEFSC HBERJISC 7
8 VS
9 VS




6/5 (B) BEEHSINIYYH—15
KSCYa2ZP|UATRFEIE|Y5—20Ya=P| 2777 «22FBA| FRDESC (FHESCY2=7| FCHE #EEISC |urnFsxBEr|IL—Y T VBB BERIBSFC

1 9:30 Z TR TREIB VS BERJISC FEDVLESC V=T ValE 1
2 1020 =" VEIE VS 77«4 3AFBA AT RTEIB BRJISC 2
3 1110 FCh& VS AT RTRIB I—"JzrEalE |Z27F77+D22FBA| 3
4 12:00 Jr 7+ 3AFBA VS PRIFSFC FCh& AT AT R 4
5 12:50 =" UElE VS AT RTRIB 2737« 3AFBA PRIFSFC 5
) 1340 KSCYa1Z7 VS FCh& =" VEIE AT AT R )
7 14:30 FEDVESC VS =" VElE KSCY a7 FCh& 7
8 VS

9 VS

1 930 VS5-I 7 VS TESCY 1 =7 D7 FT+«3RFBA| UN)LT+ KER | 1
2 10:20 PRIFSFC VS UNILT « KER IS5-=Ia2Z7 | m™ESCY1ZTP | 2
3 1110 TESCY 1 =7 VS KSCYa1Z7 PRIFSFC URNILT« KER | 3
4 12:00 UNILT « KER VS FEDESC HRESCY 17 KSCY a7 4
5 12:50 BERJISC VS VS5-I 7 UNILT « KER FEDEFSC 5
) 1340 JrF 714 3AFBA VS UNILT « KER BRJISC IS5-Y21Z7| 6
7 VS

8 VS

9 VS




